06939 B # ¥R F RS HISRILE B R

7= miiEA

ME
4R&IEREE EN AW-6060,
RERMRICF M |, BIETRIgEA,

g
EEERACHAKREL  REEFRTREBBERE |, B,

B

BEBIENAFEFERNREMY S, BARER |, ilomFE N
MmeeB ERNE,

FEf T B E T IR U R AR T E A 2 B AR S,

A + 40mm

e -
32 |
’
® —:
-
D © -
—_— = -\;;"
— S
-~ =2
—
A
B - B = |
06939-150302 & B 150 48 M8x25 80 200 1000
06939-300302 2E B 300 48 M8x25 80 350 1000
06939-400302 26 B 400 48 M8x25 80 450 1000
06939-200302 e B 200 48 M8x25 80 250 1000
06939-400303 BRE B 400 48 M8x25 80 450 1000
06939-500303 BRE B 500 48 M8x25 80 550 1000
06939-300303 BRE B 300 48 M8x25 80 350 1000
06939-500302 26 B 500 48 M8x25 80 550 1000
06939-150303 BRE B 150 48 M8x25 80 200 1000
06939-200303 BRE B 200 48 M8x25 80 250 1000

© norelem www.norelem.com



